A6 8 A1 HEE (o Ad : HRADA)

KM 4 TR [ |5 (A) | i (& (B) | 8 | EF(A+B) | 3R
T 2,478 4 2,749 -8 2,815 4 5, 564 —4
T —TH 977 2 892 1 782 —4 1,674 -3
PR — T H 576 1 540 1 558 -2 1,098 -1
e =T H 637 -3 685 -3 646 1 1,331 —4
JHTHTY T H 477 -2 494 1 510 0 1,004 1
4R T H 337 4 355 0 323 3 678 3
JHPTHT ST H 304 5 366 5 384 1 750 6
Lo HT 207 2 203 1 210 1 413 2
=a 381 -1 445 0 451 -5 896 -5
T H 1,912 4 1,976 3 2,017 5 3, 993 8
PIHTHT 332 0 329 ) 318 —4 647 -6
Hh T H 923 3 987 4 949 1 1,936 5
HT—TH 281 1 345 1 394 -1 739 0
R T H 327 -3 413 —4 429 -1 842 -5
HHT =T H 479 -2 652 -3 626 -1 1,278 —/
BT B 297 0 394 1 388 -1 782 0
A 230 -2 253 ) 246 -1 499 -3
] = 290 0 348 -1 326 -1 674 )
— K 446 2 450 0 460 0 910 0
— YV AREH—TH 0 0 0 0 0 0 0 0
=YAREMTTH 32 0 42 0 43 0 85 0
GIEL 108 0 121 0 118 0 239 0
— Y KHH 5 0 5 0 5 0 10 0
NH 4 679 -2 849 ) 850 -3 1, 699 -5
k4> 4, 542 -3 4, 787 -8 4,978 -5 9, 765 -13
IR 4,657 13 4, 456 5 4,519 4 8,975 9
E A 1, 405 11 1, 485 -3 1,524 3 3, 009 0
=5 H 5 0 7 0 6 0 13 0
mE+H—TH 909 3 758 7 913 0 1,671 7
=LA _TH 1, 109 1 1,058 1 1,126 1 2,184 2
BH5+HR=TH 845 5 763 1 830 4 1,593 5
= LRIUTH 704 0 682 -3 708 0 1, 390 -3
BRI H 709 —/ 742 -3 662 -2 1, 404 -5
& LR TH 0 0 0 0 0 0 0 0
T 4 T 1,873 -2 1,877 -1 1,776 -6 3, 653 -7
sy Fe—T1H 283 1 287 1 293 1 580 2
iy e T H 238 1 245 -1 246 1 491 0
iy =T H 434 0 433 0 447 0 880 0
ks VU T H 684 11 657 7 709 6 1, 366 13
iy B T H 419 0 476 0 492 2 968 2
mEiT—TH 257 0 299 -1 330 0 629 -1
FAET — T H 577 -4 561 -5 606 -6 1,167 -11
FEET =T H 192 -2 182 -1 235 -2 417 -3
=t 32, 557 36 33, 648 -11 34, 248 -9 67, 896 -20
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